101-20 000 ooy -0obod

niafuln 0000 (%)

T = 210 10 s s
1 goooooooooooooooo 0 0 0 0
2 goooooooooooooooo 100 0 0 0 0
3 gooboogobooooboodobn 100 0 0 0 0
4 gooooooooooooooo 100 0 0 0 0
5 goooooooo 100 0 0 0 0
6 goooooooo 100 0 0 0 0
7 goooooooooooooooooo 100 0 0 0 0
8 goooooooooooooooooo 100 0 0 0 0
9 godooooooooooooooooo 100 0 0 0 0
10 ggooogo 80 0 0 0 20
11 ggooogo 80 0 0 0 20
12 ooooooo 80 0 0 0 20
13 ogoooooo 80 0 0 0 20
14 ooooooo 20 0 0 0 80
15 goooooo 20 0 0 0 80
16 oooooon 20 0 0 0 80
17 goooooo 20 0 0 0 80
18 oo0n 100 0 0 0 0
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